section 3.6 day 2.notebook September 30, 2015

September 30 Warm-Up

A. Order the following from greatest to least.

0,32, -1.45, -0 -0.33, 1.4) -1.42

- 0.30,-0-32,-0.33 .40, 1. 42,~).95

B _ From November 12th to November 21st, the temperature in Burnaby, B.C. dropped an
average of 1.7°C each day. Suppose the temperature on the morning of November 12th

was 11.4°C. What was the temperature on the morning of Nove ber 21st?
Gx/. 7= /5.3Dc1rof5 (! AT+T53 )
4-153--37°C

. A diver descends 3.2 m in 5 min. What was his average rate of descent in metres per minute?
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@ Classwork/HOMEWORK

1. Complete the six orders of
operations questions and pass in.

2. Page 140-141 7
47[ac] a) -2t <) %1
#12 [a,c]

a\'lo\/j c) 373
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